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P= Abirc+Ac
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14. If AD = 3, AC =8, and BD = 3, what is the
perimeter of AABC?



B

lo
B
1 DDC
1O

A

15. If BC= 10, AB =7, and the perimeter of AABC
is 27, what is the value of BD?



D

16. If AD = 21, BF = 8, and DF = 8, what is the value
of AB?



B

i )
A FL e 7 e

55

D

17. If EB=6.2, CD = 3.3, and ED = 6.2, what is the
value of BD?



18. If m2YXW =21, YW =5, and WZ = 5, what is
mzZXY?



19. If mzYXZ = 38, mzWXZ = 19, and WZ = 8.1,
what is the value of YW?



A

20. If CD = 4 and the
perimeter of AABC is 23,
what is the perimeter

of AABE? B C~ 4D i

3\

9




21. Given that ZACF =~ 2ECF and
mz2ABF = m«EDF = 90, write
a two-column proof to
show that AABF =~ AEDF.

9,...,”3-‘>b
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